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F(r,t) := (coshr,sinhr cost,sinhrsint)” € H*(—1)
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be a parametrization in H?(—1). Show that WC
v(r): r— f(rf) € H*(—1) is a geodesic for each fixed Value t.
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Exercise 6-2 do. Sutken plw\b
Problem (Ex. 6-2) { '>|T o SYm &-
" Lt

S2 .= {z cE}; (z,x) = 1}
x € 5%, v e TyS?

 (coshwvt)z + (sinh vt)v’ if (v, v) <0,

Yew(t) == x+tv if (v,v) =0,
(cosvt)x + (sinvt)v’ if (v, v) >0,
where v := | (v,v)|'/? and v’ := v/v. Show that v := Yz is a

geodesic on S? with v(0) = = and %(0) = v.

Yerd) @ dfuad o whole R
7%@%% mow{e-!d,.

2023/06/06 3 /3



€6 St (agw=1)
veT S (<x,v>=0)
«{U,v> >0 (-chauf’zkz(-x, oo U, U>=1)

Yet)= oot € + .t vV 0
F 5= e {;(oc Ot Lebat < ¢

- e | -QS&‘ICVCD
= b esUL T

vee. (R — S’i

i=-1"T8 e 1" = 0



AP gy <O {9, v>~ <]
Y = bt X+ pJZw
<§5>= %ﬁb(uw*zw&mwmw

. e dit *SZL"%Q}U)
SE| '_1
R ﬂ‘-&w@’i

tbﬂ > fu a GRS



c (B >=0 (v$0)

Yit) = €+1V
O Fy=4x, XS+ %S ¢t W\ T
= Xy =
Y- R — <]

=0 ey a e dmdn



In qoveval : (H,‘&) 2 & bocuduian wasfeld
TM I »
€'?n.u.ﬂib., “{ & v>>o0
TGt L, 4 LW <0
Lt A =000

* favduabogy o, Dbt

9 okavity,

Wil m Y

Geodihca | Lt Ehe  Gosdliaie
spattil,  geodiede



S
(rnded sudece)
— ¥yt

C= (.ol \ 0)

3 Y
v~ (0,0, D€ TS Y, o= (0, st o)
spes bl

v 0. 0) Yt.Qr:(Sﬁat, (h‘lb; 0)
> 0 e

v=0hat) Y=l 40 #)
Jrolo il



